m Solving Systems of Equations
Algebraically

Example 1
Solve a System of Linear-Quadratic Equations Algebraically

a) Solve the following system of :'¢:|1|i|l"i=111.t:.
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Example 2
Model a Situation With a System of Equations

Determine two integers such that the sum of the smaller number
and twice the larger number is 46. Also, when the square of the
smaller number 15 decreased by three times the larger, the result
1s 93. In the box below, enter the smaller number followed by the
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Example 3
Solve a Problem Involving a Linear-Quadratic System

A Canadian cargo plane drops a crate of
emergency supplies to aid-workers on the
ground. The crate drops freely at first before a
parachule opens to bring the crate gently to the
ground. The crate’s height, h, in metres, above
the ground f seconds after leaving the aircraft is
given by the following two nh:{atiu:nﬁ-
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h=—49F 4+ 700 represanis the huighl of the
crate during free fall.

h = =51 4 650 represenis the height of the crate
with the parachute open.

a) How long afier the crate leaves the aircraft
does the parachute open? Express your
answer to the nearest hundredth of a second.

b) What height above the ground is the crate
when the parachute opens? Express your
answer to the nearest metre.
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Example 4
solve a System of Quadratic-Quadratic Equations Algebraically

a) Solve the following system of equations.
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Example 5
Solve a Problem Involving a Quadratic-Quadratic System

During a basketball game,

Ben completes an impressive
“alley-oop.” From one side of the
hoop, his teammate Luke lobs a
porfect pass toward the basket.
Directly across from Luke, Ben
jumps up, calches the ball and
tips it into the basket. The path
of the ball thrown by Luke can be
modelled by the equation

d? = 2d 4+ 3h = 9, where d is the
horizontal distance of the ball
from the centre of the hoop. in
meatres, and h is the height of the
ball above the floor, in metres.

ol -2d+3h= @

The path of Ben's jump can be

muodelled by the equation

5d* — 10d + h = 0, where d is his

horizontal distance from the centro

of the hoop, in metres, and h is the

height of his hands above the floor,

in melres.

a) Solve the system of equations
algebraically. Give your solution to

: sl hundredth.
DS e
Sd™(0d th=0
Sd™-lod +ISh=4TC

—_____—__

- (4h=-94T%
h= 45
)

h=3.2

doadedh= 9

S [Sd™=30d ¢3h=©
pe-rt " -
-1{d*+28d = 9
—t4d5r8d-4=0

Llw,, ﬁfﬂ!ﬂ
d= (60 aud 040

d'—" f:‘»ﬁ

7) h=320m
frem pasSier



Today 3a,c.e, 4a,c.e, bc, 6, 7, 8, 9 pgs.451-452
Tomorrow 10-13, 14c¢.d, 16,19,20 pgs.453-455

Tuesday: In Class Assignment on 8.1, 8.2



